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In the Xw>9, the owner of the camel is liable, etc.

OVERVIEW

The X3 explains the 71wn of the 121 923 (according to "1 who maintains 2wWwn WK
Mnn) in the following manner. We are discussing a case where the P13 was No050n
717377 93 nx.! In the xw™ (where the lamp of the 11111 was inside the man), the Hva
oA is 21; however in the X9°0 (where the lamp was outside) the >3 is 21 and
the Hn37 v3a is MwD; since she stood 7°n9n 2077, the 5737 Y2 is considered an DIN.
The %131 then concludes that in the Xw1 the 137 %v2 is 271 for he should not have
laden his camel with so much flax (so that it entered into the store and caught fire).
In the ®9°0 the *1117 is 211 for he should not have placed his lamp outside the store.
nmooIn explains what the &3 is adding (in its explanation according to ") to our
initial understanding of the 71wn (according to >").

Mmoo anticipates a difficulty:
- 25511 NOYDY NYIIT NNRYV M1 1) NIPOYNT 2 Yy 9N

Even though that initially the reason of the X2>3 and X2°0 of the m1wn was also

like we are explaining it now, so why mention it again?

mooIn responds:
= 1980 DIVN IYN 9INT INND 9N VIV DYVN NN RIPIYNT NIN

Nonetheless the X713 felt the need to reiterate this difference, for initially, when
we followed the view of the one who maintains 1921 2wn» WK (that is "), the

logic to be 2nn the H1an Hv2 in the X1 was much simpler -
—wan npYTh NYNN Y AN Yya NIt

! Therefore there is a 211 (for the 131 Y¥3) even though WX is not X 0Wwn, but since it is a case of N20>on therefore
the entire 772 is considered as the n%man opn and it is considered that the 913 directly burnt down the 772 (there
was no xf7; the fire did not spread). See n303071 7"7 '01M "W

? Initially the X»3 assumed that the 7awn follows the view of *"9 (that 1°%r 21w YwX), and the understanding was that
in the Xw™ the 91371 Yva is 211 because his flax (which was abundant) went into the store, and in the X9°0 the >3 is
21 for placing his lamp outside. The exact same way we are explaining it according to ?"1; why therefore repeat the
concept again. [Seemingly the only difference in the understanding of the 71wn (between 7" *"7) is whether there is
a 211 even when it is not n30507 (the view of ", since 1¥n Dwn WK) or only if it is N3N (the view of 7", since
WX is not 1°xm). However the understanding why in the X2 the 2237 %v2 is 21 and in the X5°0 the 17 is 270 is
(seemingly) the same both according to *"1 and 7".]

? According to *" that ¥r 21w WK as soon as the 237 %¥2 was negligent and allowed the flax to ignite, it became
the 11 of the 13 and the 91377 ¥1 is liable for the consequence. It is very obvious that the 2237 %92 is responsible for

1

TosfosInEnglish.com



X" 73"7 '0n 2,20 P2 702

For the ®»377 Y2 is liable for the initial lighting of the flax, which was certainly his
fault since he placed so much flax on the camel that inevitable it would enter into the store;
therefore the 71371 %v2 is 21 for the burning of the 772 -

= NN NI T DY NNSYN NITIN YNRAY 29 HY 9N

Even though the fire spread on its own through a 7191%% 19 and the %37 [9v2] did
not assist in the actual burning of the 773, nevertheless he is 21 since X1 21wn WX. This

explains the original view if X1 DWwn WK.
= 19°20 NIVIDNY DY NIN 299110 NIT 19910 DIVN 9INT INNDY YaN

However according to the one who maintains 111722 2w WX where the 137 Hv2
cannot be held liable for burning down the 77°2 on account the he caused the flax
to ignite (since it is not 117 and not 1°X1), but rather he is liable only because the

513 was novoon the 1992 -
- 719929 PIND NTRYY 1Y NPYYTH NN KOV “79 Y5 ywa NY A1)

And in this aspect the 9237 Hv2 is not so negligent, for he did not notice the fire
until the camel stood close to the 77932 -

= 1199290 HYUNY NTNYVY 29Y NPHDY 1D NYN KD INY
And at that point in time he could not remove her from the 7772 since she was

standing there to urinate; therefore it is not that obvious that the 92377 v2 should be liable -
= 11935902 SYIAND 1OD SPAIN NIT 299N 951 1DPANT WD T8N o0

So therefore it was necessary for the X711 to explain that nevertheless the 5va

5na is 29, for he should not have increased the load to this extent -
- 11525 PONY MY 932 PIYTN MIND PNY NNV DINYWI NINYIN SPIONY 1Y MnY

For he should have anticipated that when his flax will go into the store
(because he loaded so much flax on the camel), and it will be ignited by the lamp
in the store, and the camel may stand by the 77°2 to be 79 %902 in that case -
:0UN *NPYoY Yars NY
He (the %1377 7¥2) will not be able to remove her from the 77°2. He is liable because

igniting his flax, since he put such a large load on his camel.
* According to *" he is liable from the moment the flax caught on fire (due to his negligence) since it is 22371 2w 7.
His negligence in causing the flax to ignite is very obvious. However, according to "3 even though he was
negligent in igniting the flax, nevertheless that would (seemingly) not make him liable for burning the 77°2 (since it
is not 9137 1°xm). The only reason he is 211 is because the 913 was naodon. The na7 %¥1 is not that negligent for
allowing her to be noooon since she was o°n 2°va> 771y, so why should the 9237 %2 be 2»n?! [Mdo1N may be
assuming that one can argue that even though the Y137 v2 was negligent in allowing his flax to ignite, nonetheless
the 91317 %v2 assumed that even if it will ignite it will not cause harm to others, since the 2237 2¥2 is accompanying
the 9n3, he will see to it that it causes no further damage to the property of others. (See ‘Thinking it over’ # 2&3.)]
> In any case of %311 1w the owner is helpless at the time of the damage, nevertheless he is liable because he allowed
the animal to go out and trample or eat. Here too the 92371 92 should have anticipated that his overloading can cause
a damaging situation which he will then not be able to control.
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of his negligence that he should have anticipated all this.

SUMMARY
The negligence in overloading the camel, enabling the flax to ignite, is greater than
the negligence of not allowing the camel to be noo2on.

THINKING IT OVER
1. Is there any w171 regarding the X5°0 that the *11m is 217 since he placed his
lamp outside?°

2. If we assume that the w17 of the X3 is that (contrary to what one may
assume’) the “nx1 9va should have anticipated the entire process mentioned in
Mmoo, why does the Xm3 merely state that the 9237 %92 is liable for overloading
the camel (which is what we already assumed according to °"7), when the X723
should have stated that the 9237 9va is 211 because he should have anticipated the
inevitable chain of events which may follow the igniting of the flax?!

3. When mpoin argued that the 2»37 9v2 should not be liable since '2"2 yw» &Y' is
this connected in any way to the discussion of 01382 19101 " wo1 N>nn?”

% See x0p MX 0IM1 " 1.
7 See [the bracketed area in] footnote # 4.
¥ See footnote # 4.
? See mwn nbma.
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